
 
ЦЕНОВА ЛИСТА-2018-PRICE LIST

                           КРИКОВЕ - JACKS

валидна от / valid from 01/01/2018

Article       Code 

W
e
ig

h
t 

Le
ng

ht
 (c

lo
se

d)
 

P
a
y
lo

a
d
 

M
in

im
um

  h
ei

gh
t 

M
ax

im
um

 h
ei

gh
t 

E
x
te

n
si

o
n
 

Lifting speed Use 
 Retail Price 

without VAT 
Retail Price 
with VAT 

 

 
    

    
EVOjack Quadra              

 

CR398 5.1 kg 39 cm 600 kg 16 cm 39.5 cm 23.5 cm 24 strokes Rally  € 400.00  € 480.00 

              
EVOcrk              

 CR408 3.5 kg 54 cm 600 kg 9 cm 34 cm 27 cm 9 strokes Rally  € 575.00  € 690.00 

              
EVOjack              

 CR406 3.75 kg 61 cm 600 kg 10.5 cm 41 cm 32 cm 8 strokes Rally  € 770.00  € 924.00 

              
OFFcrk              

 CR415 5.3 kg 70 cm 1200 kg 10 cm 48 cm 43 cm 20 strokes Off-road  € 710.00  € 852.00 

              



 
 
 
 
KIT / MAINTENANCE CODE 

 
 
 
 
 

A4.000001.00 

 
 

 
A4.000002.00 

 
 

 
A4.000014.00 

 
 

 
A4.000006.00 

 
 

 
A4.000005.00 

 

 
A4.000003.00 

 
 

A4.000003.01 

 

 
A4.000003.02 

 
 

 
A4.000010.00 

 
 

 
A4.000004.00 

 
 

 
A4.000007.00 

 
 
 
 

A4.000008.00 

 
 
 
 

 
A4.000012.00 

 
 
 
 

 
A4.000013.00  

  

EV
O

ja
ck

 u
nt

il 
l2

01
2 

EV
O

ja
ck

 2
01

3-
20

15
 

E
V

O
ja

ck
 2

.1
  >

 2
01

5 

E
V

O
c
rk

 

O
F

F
ja

c
k
 

O
F

F
cr

k
 

E
V

O
ja

c
k
 Q

u
a

d
ra

 

x x x x    

x x x x    

x x x x x x  

x x x x    

x x x x    

x x      

  x     

   x    

x       

 x x     

   x    

    x   

     x  

        

SPARE PARTS & MAINTENANCE  

KIT NAME CONTENT 
Retail Price 
without VAT 

Retail Price 
with VAT   

 
1 aluminum foot    

 1 screw   

Aluminum foot with 15° tilting 
1 washer 

€ 69.0 € 41.4 
 

allowance kit  

 1 adjustable foot   
 1 nut M14   

Adjustable foot  € 25.0 € 15.0 

 1 adjustable aluminum foot   
 1 nut M14   

Adjustable aluminum foot 
1 washer M14 € 55.0 € 33.0  

 1 pumping handle pompaggio   
 2 PM8   
 2 seeger Ø8 

€ 60.0 € 36.0 Pumping handle kit  

 1 pin handle + cam   
 1 PM10   
 1 seeger Ø10 

€ 60.0 € 36.0 Kit Pin Holder 1 washer M6 

 1 cap + 1 OR039   
 1 ball bearing Ø3 16”B or Ø6   
 1 dowty seals   

Kit cap EVOjack 
1 release valve + OR007 € 48.0 € 28.8 
1 screw M6x90    

 1 arch   

 1 cap + 1 OR039   
 1 ball bearing Ø6   
 1 dowty seals 

€ 48.0 € 28.8 Kit cap EVOjack 2.1 1 release valve + nut + OR007 
 1 screw M6x90   

 1 arch   

 1 cap + 1 OR035   
 1 ball bearing Ø6   
 1 dowty seals 

€ 48.0 € 28.8 Kit cap EVOcrk 1 release valve + OR007 
 1 screw M6x120   

 1 arch   

 1 valve   
 2 OR115   

Valve & OR kit 
1 AE115 € 45.0 € 27.0 
1 GP28    

 1 OR022   
 3 OR113   
 1 OR022   
 1 OR007   
 3 OR113 

€ 38.0 € 22.8 Kit "OR" EVOjack 2 OR115 
 1 AE115   

 1 OR039   
 1 dowty seals M6   
 1 OR022   
 1 OR007   
 3 OR615 

€ 38.0 € 22.8 Kit "OR" EVOcrk 2 OR115 
 1 AE115   

 1 OR035   
 1 dowty seals M6   
 1 OR110 + 1 UP 8-15-8   
 2 OR7X2,5 + 1 UP 6-12-5,5   
 2 OR116   
 1 AE116   
 1 OR023 

€ 38.0 € 22.8 Kit "OR" OFFjack 1 OR036 
 1 OR007   

 1 SAP22035   
 1 SA15   
 1 SA12   
 1 dowty seals M6   
 1 OR110 + 1 UP 8-15-8   
 2 OR116   
 1 AE116   
 1 OR023 

€ 38.0 € 22.8 Kit "OR" OFFcrk 1 OR039 
 1 OR007   

 1 SAP22035   
 1 SA15   

 1 dowty seals M6   



KIT / MAINTENANCE CODE 

EV
O

ja
ck

 u
nt

il 
l2

01
2 

EV
O

ja
ck

 2
01

3-
20

15
 

E
V

O
ja

ck
 2

.1
  >

 2
01

5 

E
V

O
c
rk

 

O
F

F
ja

c
k
 

O
F

F
cr

k
 

E
V

O
ja

c
k
 Q

u
a

d
ra

 

KIT NAME CONTENT 

Retail Price 
without VAT 

Retail Price 
with VAT 

    

    
      
           1 release valve   

           1 OR 007   
           1 steel sphere   
           2 OR 7x2.5 

€ 38.0 € 22.8  A4.000016.00        x Kit "OR" EVOjack Quadra 1 AE 120 
           2 OR 120   

           1 OR 125   
           1 OR 032   
           2 OR 008   

 
CR406014001 Ø21 

         1 pin Ø 21/23/25/27 mm   
             

 CR406008001 Ø23           
€ 45.0 € 27.0  

CR406021001 Ø25 
 x x x x    Car pin  

             

 CR406015001 Ø27             
              

           1 hexagonal pin (CH17)   

 CR410013001  x x x x x x  Hexagonal car pin  € 45.0 € 27.0 

              
           1 short pipe   

           1 master stem   
           1 master piston 

€ 70.0 € 42.0  A4.000009.00  x x  x    Master Kit 2 OR115 
           1 AE115   

           1 OR022   
              

           1 long pipe   

           1 long master stem   
 

A4.000011.00 
   

x 
    

Master Kit Long 
1 master piston € 70.0 € 42.0         2 OR115              

           1 AE115   
           1 OR022   

           1 pumping rod   

           1 plastic cap   

 A4.000018.00        x Pumping rod kit  € 25.0 € 15.0 

              
           2 plastic clips Ø 25   

           2 screws M4x12   

 A4.000019.00        x Clips for rod fixing  € 15.0 € 9.0 

              
           1 flask of oil   

 A4.000020.00  x x x x x x x Spare oil kit  € 19.0 € 11.4 

              
           1 pipe   

           2 OR115   
In house maintenance for           1 AE115 

€ 89.0 € 53.4 bended main pipe, without   x x x x    Maintenance kit + work 1 OR022 
steel stem substitution              

              
           1 pipe / cannotto   

           1 master stem / stelo master   
In house maintenance for           1 master piston / pist. master 

€ 109.0 € 65.4 bended main pipe, with steel   x x x x    Maintenance kit + work 2 OR115 

stem substitution           1 AE115   
           1 OR022   
              

           1 pipe / cannotto   

In house maintenance for            
€ 99.0 € 59.4 bended main pipe, without       x x  Maintenance kit + work 2 OR116 

steel stem substitution           1 AE116   
           1 OR023   
              

           1 pipe / cannotto   

           1 master stem / stelo master   
In house maintenance for           1 master piston /pist. master 

€ 119.0 € 71.4 bended main pipe, with steel       x x  Maintenance kit + work 2 OR116 

stem substitution           1 AE116   

           1 OR023   
              

In house maintenance for            
€ 179.0 € 107.4 main body jack with re-use of   x x x x    Maintenance kit + work  

existing other parts              

              

In house maintenance for            
€ 199.0 € 119.4 main body jack with re-use of       x x  Maintenance kit + work  

existing other parts              

              

In house maintenance   
x x x x 

   
Maintenance kit + work 

 
€ 50.0 € 30.0 susbstitution of only gaskets       

             

              

In house maintenance       
x x 

 
Maintenance kit + work 

 
€ 70.0 € 42.0 susbstitution of only gaskets         

             

               


